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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

June, 2011 

ELECTIVE COURSE : ECONOMICS 

EEC-03 : ELEMENTARY STATISTICAL 

METHODS AND SURVEY TECHNIQUES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt any two questions from section A, Four from 
section B and Two from section C. 

SECTION - A 

1. Distinguish between simple random sampling 20 

with replacement and simple random sampling 

without replacement. Explain different 

procedures for drawing a simple random sample 

without replacement. 

2. How do you represent bi - variate data for two 20 

discrete variables in tabular form ? Explain the 

procedure for obtaining covariance and 

correlation coefficient from bi-variate data. 
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3. Distinguish between the concepts of an estimator 20 
and an estimate. Discuss the properties of a good 
estimator. 

4. Find two lines of the regression from the following 20 
data. 

Age of husband (x) : 25 22 28 26 35 20 22 40 20 18 

Age of wife (y) : 18 15 20 17 22 14 16 21 15 14 

Also estimate 

(a) the age of husband when age of wife is 19 and 

(b) the age of wife when age of husband is 30. 

EEC-03 	 2 



SECTION-B 

What do index numbers seek to measure ? Discuss 12 

the problems involved in the construction of an 

index number with particular reference to 

consumer price index. 

6. 	Explain the moving average method of measuring 12 

trend in time series. When the period of moving 

average is 4 years. 

7. 	Explain normal distribution. Discuss the features 	12 

of normal distribution. 

8. 	(a) Distinguish between Type I and Type II 

error. 	 6+2+4 

(b) What does a 95 percent confidence level 

mean ? 

(c) What relationship does exist between the 

confidence level and the interval width ? 

9. 	Distinguish between probability sampling and 6+6 

non-probability sampling. With a suitable 

example, explain the concept of mixed sampling. 
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10. (a) From the following trend equation 	6+6=12 

yt  = 240 + 3.8x 

(Origin 2006, x unit = 1 year, y unit annual 
production of cement) 

Shift the origin to 2008. 

(b) Consider the following trend equation 

yt  = 148 + 24.4x 

(Origin 2000, x unit = 1 year, y unit 
Annual sales of steel) 

Obtain the monthly trend equation. 
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SECTION-C 

11. (a) A team of 3 students has to be selected from 

a class of 15 students. In how many ways 

can this be done ? 	 3+3=6 

(b) From a group of 15 Jawans and 5 officers, a 

batch of 4 Jawans and 2 officers has to be 

selected. In how many ways this can be 

done ? 

12. Find the distance between the following points P 

and Q. 	 2+2+2=6 

(a) P (2, 5) and Q (5, 9) 

(b) P (3, -4) and Q (8, 5) 

(c) P (-4.3, -5.8) and Q (- 6.3, +2.5) 

13. Write a short note on mean deviation. 	 6 

14. Represent the following data by sub - divided bar 	6 
diagram. 

Item 	 A 

Land 	 3000 	8000 

Material 	5000 	10,000 

Labour 	1500 	 4000 

Others 	500 	 3000  

Total 	10,000 	25,000 
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10. (a) 	14-1 	 *tut .4 I 	 6+6=12 

yt  = 240+3.8x 
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(b)   -51-1ft   	I 

Yt = 148+24.4x 
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14. 	14-1 ci tgcf 3.7T-** . 31:1--.1.TINff W{ 	tgI 1114 Tqlf-i7 I 	6 

TR 	 w 	11 

Ii 	 3000 	8000 

TrrT:r 	 5000 	10,000 

qTf 	 1500 	4000 

3.1- 4 	 500 	3000 

V.1 	10,000 	25,000 
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